371 ¥ 29

|&Rel0

B RATION

H| 58 A7|. GSZH A vs St =2 Z AL (M2, 2019.11.20, 19:00~20:35)

> 37|20

2019-11-20 20:43

ey NE 14 E 2ME 34 E 44 E SHE B3
GSZHA 3 25 25 25 75
SR 2 2 A 0 22 22 16 60
> 2= 47| 21 EF M+
GSZHEA = -F 215 34 198, 22Z 18, ME1F
staZ2 A YO - F 115H™, 3 22 18, M2 1d™
» E HH
GSZHA SR 2 ZA
=9 191(¢% 2%5) 6%/(H% 61H)
el as/) 7511 125 71
A|EE 4 ST 2% oI -
AT S A AT A 465 48T -
S AZESA ATy 15 0If -
= S JoEH 205 221 -
S ANESA 4% 0T ,
= grisat 925 1021 -
O{9)I0] A|EE 4 - 15 30
of9llo] oS4t - 1005 941
» 2= 47| 7|8 bl
GSZEA 715 SR 2 IA
5 ST f
578 SHES+E+M) 4273
4371(43.88%) SALB (B E) 267(26.26%)
871(2.677H) E2LEIHED 1071 (3.337H)
67(2.007H) MEEIMED) 671(2.007H)
407(13.337H) HNEHSMESR) 2471(8.007H)
187}(4.007H) A - M ED) 2970(7.677H)
5871(19.337H) CIaMBHNED) 5270(17.337H)
1874 HA 1874
674 H U0 0IZ) 274

* HHQ0H 0/%) : Y

S ¢ gol 2080 =2t A RE

1/3



371 ¥ 29

|&Rel0

(S

OALAN WOULEYRARL
B RATION

H| 58 A7|. GSZH A vs St =2 Z AL (M2, 2019.11.20, 19:00~20:35)

2019-11-20 20:43

GSHH A 'S st =2 T Ab
574 No Block 671
1970 7 170 1 Block 1670 / 27H
6771 / 57H 2 Block 7671 / 874
87H / 271 3 Block 07 / o7
rg227 oY ¥ AR A/ HE s
> SE ME ME Al &0 E27{0f [HE SH7|F H
GSZEHA 37 Vs HREE2SA SH
471 /7 17H(25.0%) No Block 37 7 271(66.7%)
1470 / 47H(28.6%) 1 Block 1170 7 37H(27.3%)
6571 / 2771(41.5%) 2 Block 5271 / 1671(30.8%)
- 3 Block 67l / 071(00.0%)
*SAMNE /85 (838)
> MEQS 37 22
> GSZEA
E AE %3 AlZERE ol =42
MBS 13(39.4%) 7(21.2%) 4(12.1%) 1(03.0%) 1(03.0%) 7(21.2%)
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